Stoichiometry Notes
Stoichiometry – The numerical relationship between the materials in a balanced equation.
Think of a recipe.  You can double the ingredients and make double the amount.  Same in chemistry.   REMEMBER THAT EVERYTHING WOULD HAVE TO BE DOUBLED.

The relationships in a balanced equation are in MOLES ! 
NOT GRAMS ! 
NEVER GRAMS !!!
STEPS TO SOLVE STOICHIOMETRY PROBLEMS:
1
Write out a balanced equation.  (the equation might be given to you already balanced.)

2 Write down the given information.

· There needs to be the material that you are looking for.

· There needs to be the material that information is given about.

3 Convert all of the given information to moles (If needed)

· If given in grams, use the formula n=g/m 

· If given in liters, use the ratio 1 mole occupies 22.4 liters

4 Set up the proportion.   Use the two materials in step 2, the one that you are looking 
for and the one that you are given information about.  

ONLY MOLES ARE TO GO IN THE PROPORTION

· The ratio on the left contains the coefficients from the balanced equation.

· The ratio on the right contains the given information.

5 Solve for x by cross-multiplication.   Remember that you can do this by multiplying

the two numbers that you can and divide by the number that is left.

6 Convert to another unit (if needed)

Remember that if you are converting to grams, that you need to use the molecular weight of the material that you solved for in moles, not the molecular weight of the material that was the given information.  The exception to this is that Liters can be used in the proportion if all the materials are a gas.

LIMITING REAGENT PROBLEMS

A limiting reagent problem is very similar to a regular stoichiometry problem, the difference is that there will be two materials that there will be given information for, instead of one.   What you have to do is determine which one will run out first.  That is what is meant by a limiting reagent problem.  You do this by creating two proportions instead on one.   The proportion will still include the material that is being looked for.  It will be necessary to do this twice.  One of the two answers will not make sense.   Once you determine the material that will run out first, the problem is just like a regular stoichiometry problem.

PERCENT YIELD PROBLEMS

When you work in a lab, there’s often error.  Therefore it’s likely that you don’t get the exact answer you should.  The percent difference between the correct answer and your answer is called the percent error.  The percent yield is determined by finding the amount that was obtained in the lab and dividing that by the amount that you should have received in the lab.   When we work a stoichiometry problem we are not taking any error into account so that would be the answer that we should get in the lab.
Percent yield =      amount obtained in the lab
x 100 %


  Amount you should get in the lab
